Ggg R (DE) iR 5k a S
GSD (China) Co.,Ltd.

GRB three-lobe roots blower

www.gsd.net.cn



GREEN SAFE DEVELOPMENT

GRB =M% RE X4

GRB three-lobe roots blower

JRIE Theory

GRB=MZ RN E—MBERANN, HE
HEIRER A B ERE A FRSEE R I LA
T, ENEABIREERAERARSAE
RRMAe, MRS, M55
RBRNERFPRE T EE, HHEEIR
NiRE, 5REZEHE-—EENTS, [
Migtehe, =M%, ENEHASHEE
R,

GRB is a displacement blower, the pressure
can be adjusted according to the requirement
of the user in allowing range, there are two
impellers in the blower body which rotate in the
opposite direction, in order to let the impeller
rotate, there are some tiny gap between the
impeller to body, impeller to impeller. When
the impeller rotates through the suction inlet, it
can gather an amount of air between the body
and impeller, then the impeller go on rotating,
and the air will be pressured, the pressure in the
body will rise, finally the air has been send to
the outlet.

01

K555 Features

XEFMEITEE K.

M2 32mm-400mm (1.25 "-16")

XE: 0.38-283m’/min (13-9985CFM)

[£77: —E&ZTXGRBZL AJ3A8000mmAq (0.8kgf/cn)
HHSETE S,

B FEERE, EIRoHERS.

NERE, FEHTUTXEZ MmN,
R30I, B EEER.

MEERRE, THE,

WIIAEISRINTIRE, Fik, RIRS.

i mRERE, ELH .

IR BRBIRNHINTE, THREEEURK,
— A5, EERAEE, EEEEa 2R E,

Wide range of capacity and pressure.

Calibre: 32mm-400mm (1.25 "-16")

Capacity: 0.38-283m’/min (13-9985CFM)

Pressure: The pressure of one-stage GRB type up to
8000mmAq (0.8kgf/cn)

Delivers completely oil-free air.

Low oscillation and low noise by dynamic balance which

revised by computer.

Smaller change in capacity against change in pressure.

High efficiency due to special impeller design, great air-

delivery low power.

Simpler and solider structure, less trouble.

Highest quality pilot & accurate great applied, long life

and low noise assured.

Standardized product with strict quality control.

Our rotor has used the most advanced technic, one time

for all working process of the six-shaft method, to enhance

the precision.



GREEN SAFE DEVELOPMENT

SN LE1E] Externality construction

No. E=4d Name
1 AHAE Blower body
2 RN Motor
3 JERRE Foundation
4 R Pulley
5 R ® Driving belt
6 RHiPE Belt cover
7 ANDES 2 Suction silencer
8 e Rain cover
9 ki Check valve
10 EhE Gauge Pipe
11 ItHEDE Outlet pressure gauge
12 —@g T-joint
13 IR Relief valve
14 HIOE 2 Outlet silencer

7D GRB-32. GRB-40 A RECH IIEE 28
Note: GRB-32\GRB-40 without outlet silencer

4 12 10 9 1 2 3

A-=15¢ BH Type description

GRB 65

42 (mm) Diameter (mm)

=HZ XM, Three-lobe roots blower

£5 {81 &] Construction

No. & Name ISR 7
GB JIs
1 ERAAE  Casing HT250 FC250
2 L prIs Bearing housing HT250 FC250 ®)
3 pibee] Oil box HT250 FC250
4 PRI Oil splash Q235 SS400 @ n
5 MWABIER  Bearing washer Q235 $S400
6 BEHmE Framework oil seal NBR NBR
7 B Pulley HT250 FC250
8 Fpiie Drive rotor HT250 FC250
9 Wi Driven rotor HT250 FC250 N
10 YEith::ES) V-ring VITON VITON
11 B Bearing GCri15 SuJ2
12 frSpe Gear 20CrMnTi 20CrMnTi
13 IEEEE Lock washer Q235 $5400
14 flsmilSs3 Lock nut 45 S45C
15 eSEge] Gear box HT250 FC250
16 hieE Lubrication plug 45 S45C
17 JEVESHELT  Oil gauge Assembly Assembly
18 M E Purge plug 45 S45C

S AN BB AL

Note: Different model has a little difference.



BE R Conversion table
CewEam e ) e e W e

1atm 1 101.325 1.01325 14.696 1.0333 29921 33914 760 10333
1kPa 0.0099 1 001 0.145 0.0102 0.295 0335 7.5 102

1 bar 0.9869 100 1 14.504 1.0198 29.53 3347 750 10198
11bt/in’ (psi) 0.068 6.894 0.0689 1 0.0703 2036 2.308 5171 703
1 kgf/cm’ 0.968 98.062 0.981 14.228 1 28.96 3282 73553 10000
1inHg 0.0334 33863 0.0339 0491 0.0345 1 1.133 254 3453
1ftAq 0.0295 299 0.0299 0434 0.0305 0.882 1 2242 304.8
1 mmHg(Torr) 0.013 0.1338 0.00138 0.019 0.0014 0.04 0.045 1 136
1mmAq 0.000097 0.0098 0.000098 0.0014 0.0001 0.003 0.0033 0.074 1

ENERBREAL

Pressure Conversion Formula
1m’/min 1 1000 16667 1016 35288 ,

1 kPa=1000Pa=1000N/m
1/min 0.001 1 1667 1.02 0.0353 Tmbar=10.198mmAq
1cm'/s 0.00006 006 1 0,061 0002 TmmHg(Torr)=133.8Pa
Tin'/s 0.00098 0983 1639 1 0.035
1ft/min(cfm) 0.028 2832 47195 288 1

MEEEZREEF 2] Working directions of performance table

1LEESEHERRENMNZ N, OF. BEH. HHE
7. EERHOXE. 51,
2. MEEBHMAMERARTSZ E[E0RE20°C, EXE
731.0332kgf/cm?, EXTIEE65%)o
3. B ENRECRE0C, #XIE771.0332kgf/cm)BINE,
— A& LANmM*/mind o
4 RERSHAOXENIRE:
P, 273+T,
Q=Q)x ——x———
P,  273+T,
Q,: #XIETIP,(mmAq) IBERET, COREH
X2 (m*/min)
Q,: EXIETIP,(mmAQ) R ECRET,(CCHRSH
X E (m*/min)
5. BANINER—RE NI EAY1.1~1.3(F
6. MRESHURELI5%.

4 5

1.The performance parameter indicate the type, caliber,
revolutions, discharge pressure, actual inlet air capacity
and shaft power of the blower.

2.The performance parameter indicate the air quantity in
standard suction condition (20°C temperature, absolute
pressure 1.0332 kgf/cm’ and relative humidity 65%) .

3.The reference air capacity (0°C temperature and absolute
pressure 1.0332kgf/cm?’) is generally indicated in Nm*/min.

4.The inlet air capacity can be converted as following.

P,  273+T,
Q2= Q] X—X———
P, 273+T,
Q,: Air capacity (m*/min) based on absolute pressure

P.(mmAq) and temperature T,(°C)
Q,: Air capacity (m*/min) based on absolute pressure
P,(mmAq) and temperature T,(°C)
5.The motor power is 1.1~1.3 multiple of shaft power.
6.The error of the parameter is about 5%.



A AY V4
M4 BES 2N Performance parameters

Qs(m?/min) Pressure(mmAg) La(kW)

1500 | 056 | 0.17 | 051 028 | 047 | 040 | 043 0.51 0.40 062 | 038 | 073 -
1750 | 068 | 020 | 062 | 033 058 | 046 [ 055 059 | 052 072 | 049 | 086 = = = =
2000 | 079 | 023 074 | 038 | 070 | 053 | 066 | 068 | 063 083 | 061 0.98 - - - -
GRB32 2300 | 093 | 026 | 088 | 043 084 | 061 080 | 078 | 077 095 0.74 1.13 = = = =
2600 | 1.07 | 029 102 | 049 | 097 | 068 | 094 | 088 | 091 1.08 | 088 1.27 - - - -
3000 | 1.25 | 034 120 | 056 116 | 079 112 1.02 1.09 1.24 1.07 147 = = = =
850 1.02 | 042 | 089 | 064 | 079 | 085 0.71 1.07 | 063 1.29 - - - - - -
950 118 | 047 1.05 071 095 | 095 0.86 120 | 079 144 = = = = = =
1050 | 133 | 052 120 | 0.79 1.10 1.06 1.02 132 0.94 1.59 - - - - - -
1150 | 149 | 057 136 | 086 1.26 1.16 1.18 145 1.10 1.74 = = = = = =
1250 | 165 | 062 1.52 | 094 142 1.26 1.33 1.58 1.26 1.90 119 | 222 1.13 2.54 107 | 286
1350 | 180 | 067 1.67 1.01 1.57 1.36 149 1.70 142 2.05 135 239 129 | 274 1.23 3.08
ORB40 1450 | 196 | 071 1.83 1.09 1.73 1.46 1.65 1.83 1.57 2.20 150 | 257 144 | 294 1.39 331
1550 | 212 | 076 1.99 1.16 1.89 1.56 1.80 1.95 1.73 235 166 | 275 160 | 3.15 154 | 354
1650 | 227 | 081 2.14 124 | 204 1.66 196 | 208 1.89 2.50 182 | 293 176 | 335 1.70 | 3.77
1750 | 243 | 086 | 230 1.31 220 176 | 212 | 221 204 265 198 | 3.10 1.91 355 186 | 4.00
1850 | 259 | 091 246 139 | 236 1.86 227 | 233 2.20 281 213 328 | 207 | 375 201 4.23
1950 | 274 | 096 | 261 146 | 251 196 | 243 246 | 236 296 229 | 346 | 223 396 | 217 | 446
850 1.81 0.61 164 | 097 1.52 1.34 141 1.70 1.31 2.06 122 | 242 114 | 279 107 | 3.15
950 207 | 068 191 1.09 1.78 149 1.67 1.90 1.57 230 148 | 271 140 | 3.11 133 352
1050 | 234 | 075 217 120 | 204 1.65 193 2.10 1.83 2.55 1.75 2.99 167 | 344 1.59 3.89
1150 | 260 | 082 243 1.32 230 1.81 219 | 230 | 209 279 | 201 3.28 1.93 3.77 185 | 4.26
1250 | 286 | 090 | 269 143 2.56 1.96 245 250 | 235 303 227 | 356 | 219 | 410 | 211 4.63
1350 | 312 | 097 | 295 154 | 282 212 | 271 270 | 262 327 | 253 385 245 | 442 237 | 5.00
ORBS0 1450 | 3.38 104 | 321 166 | 308 | 228 297 | 290 | 288 351 279 | 413 2.71 4.75 264 | 537
1550 | 3.64 .11 347 177 | 334 | 243 323 310 | 3.4 376 | 305 | 442 | 297 | 508 [ 290 | 574
1650 | 3.90 1.18 373 189 | 361 2.59 350 | 330 | 340 400 | 331 470 | 323 541 316 | 6.11
1750 | 4.16 126 | 400 | 200 | 387 | 275 376 | 350 | 3.66 424 | 357 | 499 | 349 | 574 | 342 | 648
1850 | 443 133 | 426 | 212 | 413 291 402 | 370 | 392 448 384 | 527 | 376 | 606 | 368 | 685
1950 | 4.69 140 | 452 | 223 | 439 | 306 | 428 | 389 | 418 473 | 410 | 556 [ 4.02 639 | 394 | 722
850 238 | 079 | 216 1.18 | 2.00 1.66 186 | 213 1.74 2.60 1.63 307 | 153 3.54 144 | 401
950 271 088 | 250 132 | 234 1.85 220 | 238 | 208 291 197 | 343 187 | 396 178 | 449
1050 | 305 | 097 | 284 146 | 268 | 205 254 | 263 242 321 231 379 | 221 4.38 212 | 496
1150 | 3.39 106 | 3.18 160 | 3.02 224 | 288 | 288 | 276 352 265 | 415 255 | 479 | 246 | 543
1250 | 3.73 1.16 352 174 | 336 | 244 | 322 | 3.3 3.10 382 299 | 452 | 289 | 521 280 | 590
GRE6S 1350 | 4.07 1.25 3.86 188 | 370 | 263 356 | 338 | 344 4.13 333 | 488 | 323 563 314 | 638
1450 | 441 134 | 420 | 202 | 404 | 283 390 | 363 3.78 443 367 | 524 | 357 | 604 | 348 | 685
1550 | 475 143 | 454 | 216 | 438 | 302 | 424 | 388 | 412 474 | 401 560 | 391 646 | 3.82 732
1650 | 5.09 153 | 488 | 230 | 472 322 | 458 | 413 | 446 5.05 435 596 | 425 688 | 4.16 7.79
1750 | 543 162 522 | 244 | 506 | 341 492 | 438 | 480 535 469 | 632 | 459 | 729 | 450 | 826
1850 | 577 1.71 556 | 258 | 540 | 361 526 | 463 5.14 566 | 503 668 | 493 7.71 484 | 874
1950 | 6.11 180 | 590 | 272 574 | 380 | 560 | 488 | 548 596 | 537 7.05 527 | 813 518 [ 9.21
800 41 1.30 383 209 | 362 287 344 | 365 3.28 444 | 313 522 | 300 | 600 | 287 | 678
GRBSO 900 | 471 147 | 443 235 | 422 323 | 403 | 4 387 499 | 373 587 | 360 | 675 347 763
1000 | 531 163 5.03 261 4.82 359 | 463 | 457 | 447 5.55 4.33 6.52 | 420 | 750 | 407 | 848
1100 | 591 1.79 | 563 287 | 542 3.95 523 5.02 507 6.10 | 493 718 | 479 | 825 | 467 | 933

04 EFN



A AY V4
M4 BEZS 2N Performance parameters

Qs(m?/min) Pressure(mmAg) La(kw)

1200 | 6.51 1.96 623 | 3.13 6.01 431 5.83 548 | 567 6.65 553 7.83 539 | 900 | 527 | 1018

1300 | 7.11 2.12 683 | 339 [ 661 466 | 643 594 | 6.27 7.21 6.13 848 | 599 | 975 587 | 11.03
1400 | 7.71 2.28 743 | 365 7.21 5.02 7.03 639 | 6.87 776 | 6.73 9.13 6.59 | 1050 | 647 | 11.87
1500 | 831 245 803 | 391 781 538 763 6.85 747 832 732 | 979 | 739 [ 1125 | 707 | 1272
GRB80 1600 | 891 261 863 | 418 | 841 574 | 823 731 8.07 8.87 792 | 1044 | 779 | 1200 | 767 | 1357
1650 | 9.21 269 | 893 [ 431 8.71 592 | 853 754 | 837 9.15 822 | 1076 | 809 | 1238 [ 797 | 1399
1750 | 9.81 2.85 953 | 457 | 931 628 | 9.13 799 | 897 9.70 | 882 | 1142 | 869 | 13.13 | 857 | 1484
1850 | 1041 | 3.02 | 1012 | 483 991 664 | 973 845 957 | 1026 | 942 | 1207 | 929 | 1388 | 9.16 | 1569
1950 | 11.00 | 318 | 1072 | 509 | 1051 [ 700 | 1033 | 891 | 1017 | 1081 | 1002 | 1272 | 989 | 1463 | 9.76 | 1654
800 578 | 198 539 | 3.07 | 509 | 417 | 484 | 526 | 462 636 | 442 746 | 424 | 855 | 407 | 965

900 6.61 222 6.23 | 346 | 593 | 469 | 568 | 592 546 7.5 526 | 839 | 508 | 962 | 491 | 1085
1000 | 745 | 247 707 | 384 | 677 521 652 | 658 | 630 7.95 6.10 | 932 591 | 1069 | 574 | 12.06
1100 | 829 | 272 790 | 422 761 573 736 724 | 7.4 874 | 694 | 1025 | 675 | 11.76 | 658 | 1327
1200 | 913 | 296 | 874 | 461 845 | 6.25 8.20 790 | 798 954 | 778 | 1118 | 759 | 1283 [ 742 | 1447
1300 | 997 | 321 958 | 499 | 929 | 677 | 9.03 8.55 8.81 1033 | 861 | 1212 | 843 | 1390 | 826 | 1568
GRB100 1400 | 1081 | 346 | 1042 | 537 | 1032 | 729 | 987 | 921 965 | 1113 | 945 | 1305 | 927 | 1497 | 9.10 | 1688
1500 | 1165 | 370 | 1126 | 576 | 1096 | 781 | 1071 | 987 [ 1049 | 1192 | 1029 | 1398 | 10.11 | 1603 [ 994 | 18.09
1600 | 1249 | 395 | 1210 | 6.14 | 11.80 | 833 | 11.55 | 1053 [ 1133 | 1272 | 11.13 | 1491 | 1095 [ 17.10 [ 10.78 | 1930
1650 | 1291 | 407 | 1252 | 633 | 1222 | 860 | 1197 | 1086 | 11.75 | 13.12 | 1155 | 1538 | 11.37 | 1764 | 11.20 | 19.90
1750 | 1374 | 432 | 1336 | 672 | 1306 | 912 [ 1281 | 1151 [ 1259 [ 1391 [ 1239 | 1631 | 1221 | 1871 | 1204 | 21.10
1850 | 1458 | 457 | 1420 | 710 | 1390 | 964 | 1365 | 1217 | 1343 | 1471 | 1323 | 1724 | 13.04 | 1978 | 1287 | 2231

1950 | 1542 | 481 | 1503 [ 749 | 1474 | 10.16 | 1449 | 1283 [ 1427 | 1550 | 1407 | 1817 | 13.88 | 20.84 [ 13.71 | 23.52
780 859 | 261 817 | 418 | 785 574 | 758 731 7.34 8.88 713 | 1044 | 693 | 1201 | 675 | 1358
830 920 | 278 878 | 444 | 846 | 611 8.20 778 | 796 945 774 | 111 | 755 | 1278 | 736 | 1445
880 982 | 295 940 | 471 908 | 648 | 881 8.25 857 | 1001 | 836 | 11.78 | 816 | 1355 | 798 | 1532
930 | 1043 | 3.11 [ 1001 | 498 | 969 | 685 942 | 872 9.19 | 1058 | 897 | 1245 | 878 | 1432 | 859 [ 16.19
990 | 1117 | 331 | 1075 | 530 | 1043 | 729 | 1016 | 928 | 993 | 1127 | 971 | 1325 | 951 | 1524 | 933 | 17.23
1050 | 1191 | 351 | 1149 | 562 | 1117 | 773 | 1090 | 984 | 1066 | 1195 [ 1045 | 1406 | 1025 | 1617 | 1007 | 1828
1110 | 1264 | 372 | 1223 | 594 | 1191 | 817 | 1164 | 1040 [ 1140 | 1263 | 11.19 | 1486 | 1099 [ 17.09 | 1081 | 1932
1180 | 1350 | 395 | 13.09 [ 632 | 1277 | 869 | 1250 | 11.06 [ 1226 | 1343 | 1205 | 1580 | 11.85 [ 18.17 [ 11.67 | 20.54

GRB125A
1250 | 1436 | 418 | 1395 | 669 | 1363 | 920 | 1336 | 11.71 [ 1312 | 1423 | 1291 | 1674 | 1271 | 1925 | 1253 | 21.76
1320 | 1523 | 442 | 1481 | 707 | 1449 | 972 | 1422 | 1237 | 1398 | 1502 [ 13.77 | 1767 | 1357 | 2032 | 1339 | 2297
1390 | 1609 | 465 | 1567 | 744 | 1535 | 1024 | 1508 | 1303 | 1484 | 1582 | 1463 | 1861 | 1443 | 2140 | 1425 | 24.19
1470 | 1707 | 492 | 1665 | 787 | 1633 | 1082 | 16.06 | 13.78 [ 1583 | 16.73 | 1561 | 1968 | 1542 [ 2263 [ 1523 | 25.59
1560 | 1818 | 522 | 1776 | 835 | 1744 | 1149 | 1717 | 1462 | 1693 | 1775 | 1672 | 2089 | 16.52 | 24.02 | 1634 | 27.15
1650 | 1928 | 552 | 1887 | 884 | 1855 | 1215 | 1828 | 1546 | 1804 | 1878 [ 17.83 | 2209 | 1763 | 2540 | 1744 | 2872
1750 | 2051 | 586 | 2010 | 937 | 19.78 | 1289 | 1951 | 1640 [ 19.27 | 1992 | 19.06 | 2343 | 1886 | 2694 | 1867 | 30.46
1850 | 21.74 | 619 | 2133 [ 991 | 21.01 | 13.62 | 20.74 | 1734 [ 2050 | 21.05 | 20.28 | 24.77 | 2009 | 2848 [ 19.90 | 32.20
780 | 1264 | 382 | 1208 | 611 | 1164 | 839 | 1127 [ 1068 | 1095 | 1297 | 1066 | 1526 | 1039 | 1755 | 10.14 | 19.84
830 | 1354 | 406 | 1297 | 650 | 1254 | 893 | 1217 | 11.37 [ 1185 | 1381 | 1155 | 1624 | 1128 | 1868 | 11.03 | 21.11
880 | 1444 | 430 | 1387 | 689 | 1344 | 947 | 1307 [ 1205 | 1275 | 1464 | 1245 | 1722 | 1218 | 1980 | 1193 | 2239

GRB125 930 | 1534 | 455 [ 1477 | 728 | 1434 | 1001 | 1397 [ 1274 | 1364 | 1547 | 1335 | 1820 | 13.08 | 2093 | 1283 | 23.66

990 | 1642 | 484 | 1585 | 775 | 1541 | 1065 | 1505 [ 13.56 | 1472 | 1647 | 1443 | 1937 | 1416 | 2228 | 1391 | 25.18
1050 | 1750 | 514 | 1693 | 822 | 1649 | 1130 | 16.12 | 1438 | 1580 | 1746 | 1551 | 20.55 | 1524 | 2363 | 1499 | 26.71
1110 | 1857 | 543 | 1801 | 869 | 17.57 [ 11.95 | 1720 | 1520 | 1688 | 1846 | 1659 | 21.72 | 1632 | 24.98 | 16.07 | 2824
1180 | 1983 | 577 | 1926 | 924 | 1883 | 1270 | 1846 | 16.16 [ 1814 | 1963 | 17.84 | 23.09 | 17.57 | 2655 [ 1732 | 30.02

8 os



A AY V4
M4 BEZS 2N Performance parameters

Qs(m?/min) Pressure(mmAg) La(kw)

1250 | 21.09 | 611 | 2052 | 978 | 2009 | 1345 | 1972 | 1712 [ 1939 | 20.79 | 19.10 | 2446 | 1883 | 28.13 | 1858 | 31.80

1320 | 2235 | 646 | 2178 | 1033 | 21.34 | 1421 | 2098 | 1808 [ 2065 | 21.96 | 2036 | 2583 | 20.09 | 29.70 [ 19.84 | 33.58

1390 | 2361 | 680 | 23.04 | 1088 | 2260 | 1496 | 2223 | 1904 | 2191 | 23.12 | 2162 | 2720 | 21.35 | 31.28 | 21.10 | 3536
1470 | 25.04 | 719 | 2448 | 1151 | 2404 | 1582 | 2367 | 20.14 | 2335 | 2445 | 2306 | 2876 | 2279 | 33.08 | 2253 | 37.39

CRB125 1560 | 2666 | 763 | 2609 | 1221 | 2566 | 16.79 | 2529 | 2137 | 2497 | 2595 | 2467 | 3053 | 2440 | 3510 | 24.15 | 39.68
1650 | 2828 | 807 | 2771 [ 1291 | 27.27 | 17.76 | 2691 | 2260 | 2658 | 27.44 | 2629 | 3229 | 2602 | 37.13 | 2577 | 4197
1750 | 3008 | 856 | 2951 | 13.70 | 29.07 | 1883 | 2870 | 2397 | 2838 | 29.11 | 28.09 | 3424 | 27.82 | 3938 | 27.57 | 4452
1850 | 3187 | 9.05 | 3130 | 1448 | 30.87 | 1991 | 3050 | 2534 | 30.18 | 30.77 | 2988 | 36.20 | 2961 | 4163 | 29.36 | 47.06
780 | 1635 | 492 | 1564 | 787 | 1509 | 1082 | 1462 | 13.78 | 1422 | 1673 | 1385 | 1968 | 1351 | 2263 | 13.20 | 2559
830 | 1751 | 524 [ 1679 | 838 | 1625 | 1152 | 1578 [ 1466 | 1538 | 17.80 | 1501 | 20.94 | 14.67 | 2408 | 1435 | 27.23
880 | 1867 | 555 | 1795 | 888 | 1740 | 1221 | 1694 | 1554 | 1653 | 1887 | 16.17 | 22.20 | 1583 | 2553 | 1551 | 28.87
930 | 1983 | 587 | 1911 | 939 | 1856 | 1291 | 1810 | 1643 [ 1769 | 1995 | 1733 | 2347 | 1699 | 2699 | 1667 | 3051
990 | 2122 | 624 | 2050 | 999 | 1995 | 1374 | 1949 | 1749 | 1908 | 2123 | 1872 | 2498 | 1838 | 2873 | 1806 | 3247
1050 | 2261 | 662 | 21.89 [ 1060 | 21.34 | 1457 | 20.88 | 1855 [ 2047 | 2252 | 20.11 | 2649 | 19.77 | 3047 | 1945 | 34.44
1110 | 2400 | 700 | 2328 | 11.20 | 22.73 | 1540 | 2227 | 1961 | 21.86 | 2381 | 21.50 | 28.01 | 21.16 | 3221 | 20.84 | 3641
GRBISO 1180 | 2562 | 744 | 2490 | 1191 | 2436 | 1638 | 23.89 | 2084 | 2349 | 2531 | 23.12 | 29.77 | 2278 | 3424 | 2246 | 3871

1250 | 2724 | 789 | 2653 | 1262 | 2598 | 1735 | 2552 | 2208 | 2511 | 2681 | 2474 | 3154 | 2440 | 36.27 | 24.09 | 41.00

1320 | 2886 | 833 | 2815 [ 1332 | 2760 | 1832 | 27.14 | 2331 [ 2673 | 2831 | 2636 | 3331 | 2602 | 3830 [ 2571 | 4330

1390 | 3048 | 877 | 2977 | 1403 | 29.22 | 1929 | 2876 | 2455 | 2835 | 2981 | 2798 | 3507 | 2765 | 4033 | 2733 | 4559
1470 | 3234 | 927 | 3162 | 1484 | 31.08 | 2040 | 3061 | 2596 | 30.21 | 3153 [ 29.84 | 37.09 | 2950 | 4265 | 29.18 | 4822
1560 | 3442 | 984 | 3371 | 1574 | 33.16 | 21.65 | 3270 | 2755 | 3229 | 3346 | 3192 | 3936 | 31.59 | 4527 | 3127 | 51.17

1650 | 36.51 | 1041 | 3580 [ 1665 | 3525 | 22.90 | 3478 | 29.14 | 3438 | 3539 | 3401 | 41.63 | 33.67 | 47.88 | 3336 | 54.12

1750 | 3883 | 11.04 | 3811 | 1766 | 37.56 | 2429 | 37.10 | 3091 | 3669 | 3753 | 3633 | 44.16 | 3599 | 50.78 | 35.67 | 57.40
1850 | 41.14 | 11.67 | 4043 | 1867 | 39.88 | 2567 | 3942 | 3268 | 3901 | 39.68 | 3864 | 4668 | 3831 | 5368 | 37.99 | 60.68
830 | 2866 | 840 | 27.75 | 1344 | 27.06 | 1848 | 2647 | 23.51 | 2596 | 2855 | 2549 | 33.59 | 25.06 | 3863 | 24.66 | 43.67

880 | 30.52 | 890 [ 2961 | 1425 | 2892 | 1959 | 2833 [ 2493 | 27.81 | 3027 | 2735 | 3562 | 2692 | 4096 | 2652 | 46.30

930 | 3238 | 941 | 3147 | 1506 | 30.78 | 20.70 | 30.19 | 2635 | 29.67 | 31.99 | 29.21 | 3764 | 2878 | 4329 | 2838 | 48.93
990 | 3461 | 10.02 | 3370 | 16.03 | 33.01 | 2204 | 3242 | 2805 | 31.90 | 3406 | 3144 | 4007 | 31.01 | 46.08 | 3061 | 52.09
1050 | 36.84 | 1062 | 3593 | 1700 | 3524 | 2337 | 3465 | 29.75 | 3413 | 36.12 | 33.67 | 4250 | 33.24 | 4887 | 32.84 | 55.25
GRB200A 1110 | 39.07 | 11.23 | 3816 | 1797 | 3747 | 2471 | 36.88 | 3145 [ 3636 | 38.19 | 3590 | 4492 | 3547 | 51.66 | 35.07 | 58.40
1180 | 41.67 | 11.94 | 40.76 | 19.10 | 40.07 | 26.27 | 3948 | 3343 | 3896 | 40.59 | 3850 | 47.76 | 38.07 | 54.92 | 37.67 | 62.08
1250 | 4427 | 1265 | 4337 | 2024 | 4267 | 27.82 | 4208 | 3541 | 41.57 | 43.00 [ 41.10 | 50.59 | 4067 | 58.18 | 40.27 | 65.77
1320 | 4687 | 1336 | 4597 | 21.37 | 4527 | 2938 | 44.69 | 3740 | 44.17 | 4541 | 4370 | 5342 | 43.27 | 6144 | 4287 | 6945

1390 | 4948 | 14.06 | 4857 | 2250 | 47.87 | 30.94 | 4729 | 3938 | 46.77 | 47.82 | 4630 | 56.26 | 4587 | 64.70 | 4547 | 73.13

1470 | 5245 | 14.87 | 5154 | 2380 | 50.85 | 32.72 | 50.26 | 41.65 | 49.74 | 5057 | 49.28 | 5949 | 4885 | 6842 | 4845 | 7734
880 | 3961 | 1145 | 3859 | 1832 | 3781 | 2519 | 37.16 | 3205 | 3658 | 3892 | 36.06 | 4579 | 3558 | 5266 | 35.13 | 5953
930 | 4200 | 12,10 | 4098 | 19.36 | 40.20 | 26.62 | 39.55 | 33.88 | 3897 | 41.13 | 3845 | 4839 | 3797 | 5565 | 3752 | 6291

990 | 4486 | 12.88 | 43.85 | 2061 | 43.07 | 2833 | 4241 [ 3606 | 41.84 | 4379 | 4131 | 51.52 | 40.83 | 59.24 | 4039 | 66.97

1050 | 4773 | 1366 | 4672 | 21.86 | 45.94 | 30.05 | 45.28 | 3825 | 4470 | 4644 | 4418 | 5464 | 43.70 | 62.83 | 4325 | 71.03
1110 | 5060 | 1444 | 4958 | 23.10 | 4881 | 31.77 | 48.15 | 4043 | 47.57 | 49.10 | 4705 | 57.76 | 4657 | 6642 | 46.12 | 75.09
1180 | 5394 | 1535 | 5293 | 2456 | 52.15 | 33.77 | 5149 | 4298 | 5092 | 52.19 | 5039 | 6140 | 4991 | 7061 | 4947 | 79.82

GRB200

1250 | 5729 | 16.26 | 56.27 | 2602 | 55.50 | 35.77 | 54.84 | 4553 | 54.26 | 5529 | 53.74 | 65.05 | 53.26 | 74.80 [ 52.81 | 84.56

1320 | 60.63 | 17.17 | 59.62 | 2748 | 58.84 | 37.78 | 58.18 | 48.08 | 57.61 | 5838 | 57.08 | 68.69 | 56.60 | 78.99 | 56.16 | 89.29
1390 | 6398 | 1808 | 6296 | 2893 | 62.19 | 39.78 | 6153 | 5063 | 60.95 | 6148 | 6043 | 7233 | 5995 | 83.18 | 59.50 | 94.03
1470 | 67.80 | 19.12 | 66.79 | 3060 | 66.01 | 42.07 | 6535 | 5355 | 64.78 | 65.02 | 64.25 | 7649 | 63.77 | 8797 | 6333 | 99.44

06 (™




A AY V4
4 ﬁE%%‘Q Performance parameters

Qs(m?/min) Pressure(mmAg) La(kw)

5002 | 1440 | 4883 | 23.03 | 4792 | 3167 | 4715 | 4031 | 4648 | 4895 | 4587 | 57.59 | 4530 | 66.22 | 44.78 | 74.86

880 | 53.21 | 1526 [ 52.02 | 2442 | 51.11 | 3358 | 50.34 [ 42.74 | 4966 | 51.90 | 49.05 | 61.06 | 4849 | 7021 | 4797 | 7937

930 | 56.39 | 16.13 | 5520 | 25.81 | 54.29 | 3549 | 5353 | 45.17 | 52.85 | 54.85 | 5224 | 64.52 | 51.68 | 7420 | 51.15 | 83.88

990 | 6021 | 17.17 | 59.03 | 2748 | 5812 | 37.78 | 57.35 | 4808 | 56,67 | 5838 | 56.06 | 6869 | 5550 | 78.99 | 5497 | 89.29

1050 | 64.04 | 1821 | 6285 | 29.14 | 61.94 | 40.07 | 61.17 | 51.00 | 60.50 | 61.92 | 59.88 | 72.85 | 59.32 | 83.78 | 58.80 | 94.71

GRB250 1110 | 67.86 | 19.25 | 66.67 | 3081 | 65.76 | 4236 | 6499 | 5391 | 6432 | 6546 | 63.71 | 7701 | 63.14 | 8857 | 62.62 | 100.12
1180 | 7232 | 2047 | 71.13 | 32.75 | 70.22 | 45.03 | 6946 | 5731 | 68.78 | 69.59 | 68.17 | 81.87 | 6760 | 94.15 | 67.08 | 10643
1250 | 7678 | 21.68 | 7559 | 3469 | 7468 | 4770 | 7392 | 60.71 | 7324 | 7372 | 7263 | 86.73 | 7206 | 99.74 | 71.54 | 11275
1320 | 81.24 | 2290 | 80.05 | 3663 | 79.14 | 5037 | 7838 | 64.11 | 77.70 | 77.85 | 77.09 | 91.58 | 76.53 | 105.32| 76.00 | 119.06
1390 | 85.70 | 24.11 | 8451 [ 3858 | 83.60 | 53.04 | 82.84 | 67.51 | 82.16 | 81.97 | 81.55 | 9644 | 80.99 | 11091 | 80.46 | 12537
1470 | 90.80 | 25.50 | 89.61 | 40.80 | 88.70 | 56.10 | 87.93 | 7139 | 87.26 | 86.69 | 86.65 | 101.99| 86.08 | 117.29| 85.56 | 132.59
830 | 66.52 | 1920 | 64.86 | 30.71 | 6359 | 4223 | 6252 | 53.75 | 6157 | 6526 | 60.72 | 7678 | 59.94 | 88.30 | 59.21 | 99.82

880 | 70.76 | 2035 | 69.11 | 32.56 | 67.84 | 44.77 | 66.77 | 5699 | 65.82 | 6920 | 6497 | 8141 | 64.18 | 9362 | 6345 | 105.83
930 | 7501 | 21.51 | 7336 | 3441 | 7209 | 4732 | 71.01 | 60.22 | 70.07 | 73.13 | 69.22 | 86.03 | 6843 | 9894 | 67.70 [ 111.84
990 | 80.11 | 22.90 | 7845 | 36.63 | 77.18 | 5037 | 76.11 | 6411 | 7517 | 77.85 | 7431 | 91.58 | 73.53 | 105.32| 72.80 | 119.06
1050 | 8521 | 24.28 | 8355 | 3885 | 8228 | 5342 | 8121 | 6799 | 80.27 | 8256 | 7941 | 9713 | 7863 | 111.70| 77.90 | 126.27
GRB300A 1110 | 9030 | 2567 | 8865 | 41.07 | 87.38 | 5648 | 8631 | 71.88 | 8536 | 87.28 | 8451 | 10268 | 83.72 | 118.09| 8299 | 13349
1180 | 96.25 | 27.29 | 9460 | 43.66 | 93.32 | 60.04 | 9225 [ 7641 | 91.31 | 92.79 | 9046 | 109.16 | 89.67 | 125.53| 88.94 | 141.91
1250 | 102.20| 2891 [ 100.54 | 46.25 | 99.27 | 63.60 | 98.20 | 80.95 | 97.26 | 98.29 | 9640 | 115.64| 9562 | 132.98| 94.89 | 150.33
1320 | 108.15| 30.53 [ 10649 | 48.84 |10522 | 67.16 [104.15 | 8548 |103.20 [103.79 [102.35 | 122.11 | 101.57 | 14043 | 100.84 | 15875
1390 | 114.09| 32.15 [ 11244 | 5143 |111.17 | 70.72 | 11009 [ 90.01 [109.15|109.30 | 108.30 | 12859 | 107.51 | 147.88| 106.78 | 167.16
1470 1 120.89| 34.00 [ 119.23 [ 5440 | 11796 | 7479 |116.89 [ 95.19 [115.95 | 11559 | 115.09 | 13599  114.31| 156.39| 113.58 | 176.78
800 | 101.28| 29.11 | 9893 | 46.58 | 97.12 | 64.05 | 95.60 | 81.52 | 94.26 | 98.99 | 93.05 | 116.46| 91.94 | 133.92| 90.90 | 151.39
900 | 11464 3275 | 11230 5240 [11049 [ 7206 | 10897 | 91.71 [107.63 |111.36 | 10642 | 131.01 | 105.31| 150.66 | 104.27 | 170.32
1000 | 128.01| 36.39 | 12566 | 58.23 |123.86 | 80.06 |122.34 [101.90 [121.00 |123.73 | 119.79 | 14557 | 118,68 | 16740 | 117.64| 189.24
GRB300 1100 | 141.38| 40.03 | 139.03 [ 64.05 |137.23 | 88.07 |135.71 [112.09 [134.37 |136.11 | 133.16 | 160.13 [ 132.05 | 184.14| 131.01 | 208.16
1200 | 154.75| 43.67 | 15240 | 69.87 |150.60 | 96.08 |149.08 [122.28 | 147.74 | 148.48 | 146.53 | 174.68 | 145.41 | 200.89 | 144.38 | 227.09
1300 | 168.12| 4731 [165.77 | 7570 |163.97 |104.08 [ 16245 | 13247 |161.11 [160.85 [ 159.90 | 189.24 | 158.78 | 217.63 | 157.75| 246.01
1400 | 181.49| 50.95 [ 179.14 | 81.52 | 17734 {11209 | 175.82 (142,66 |174.48 |173.23 | 173.27 | 203.80 | 172.15| 234.37| 171.12| 264.94
600 | 11860 3431 [ 11552 | 54.90 |113.16 | 7549 [111.16 [ 96.08 |109.40 | 116.66 | 107.82 | 137.25 | 106.36 | 157.84 | 105.00 | 17843
700 | 13961 40.03 [ 136.53| 64.05 |134.16 | 88.07 [132.17 {112.09 | 13041 | 136.11 | 12882 | 160.13 | 127.36 | 184.14| 126.00 | 208.16
800 | 160.62( 4575 | 157.54| 73.20 [155.17 [ 100.65 | 153.18 | 128.10 [ 151.42 | 155.55 | 149.83 | 183.00 | 148.37 | 21045 | 147.01 | 237.90
900 | 181.63| 5147 [17854| 8235 |176.18 | 113.23 [174.19 [144.11 | 17243 |174.99 | 170.84 | 205.88 | 169.38 | 236.76 | 168.02 | 267.64
GRB350 1000 | 202.64| 57.19 [ 199.55 [ 91.50 |197.19 | 125.81 | 195.19 [160.13 [193.44 | 194.44 | 191.85 | 228.75 | 190.39 | 263.06 | 189.03 | 297.38
1100 | 223.64| 6291 | 220.56 [ 100.65 | 218.19 [ 138.39 | 216.20 | 176.14 [214.44 |213.88 | 212.86 | 251.63 | 211.39 | 289.37 | 210.04 | 327.11
1200 | 244.65| 68.63 |241.57|109.80 [239.20 [ 150.98 |237.21 | 192.15 | 23545 [233.33 [233.86 | 27450 | 23240 | 315.68 | 231.04 | 356.85
1300 | 265.66| 74.34 | 262.58 [ 118.95 | 260.21 | 163.56 | 258.22 |208.16 |256.46 | 252.77 | 254.87 | 297.38 | 253.41 | 341.98 | 252.05 | 386.59
1400 | 286.67 | 80.06 | 283.58 [128.10 |281.22 | 176.14 | 279.22 (224.18 | 277.47 |272.21 | 275.88 | 320.25 | 274.42 | 368.29 | 273.06 | 416.33
600 |137.87| 39.77 | 13446 | 63.63 |131.84 | 8750 [129.64 [111.36 |127.69 | 13522 | 12594 | 159.09 | 124.32 | 182.95| 122.82 | 206.81
700 | 16222 4640 | 15881 | 74.24 [156.19 [102.08 | 153.99 [129.92 [152.04 | 157.76 | 150.29 | 185.60 | 14867 | 21344 | 147.17 | 241.28
800 | 186.57| 53.03 [ 183.16| 84.85 |180.54 | 116.66 |178.34 [ 14848 | 17639 |180.30 | 174.64 | 212,11 173.02| 243.93 | 171.52| 275.75
GRB400 900 |210.92| 59.66 [207.51| 9545 |204.89 |131.25 |202.69 [167.04 | 200.74 | 202.83 | 198.99 | 238.63 | 197.37 | 27442 | 195.87 | 310.22
1000 | 235.27| 66.29 | 231.86 [ 106.06 |229.24 | 145.83 | 227.04 [185.60 |225.09 | 225.37 | 223.34 | 265.14 | 221.72 | 304.92 | 220.22 | 344.69
1100 | 25962 7291 |256.21|116.66 |253.59 [ 16041 [251.39 | 204.16 | 24944 [ 24791 | 247.69 | 291.66 | 246.07 | 33541 | 24457 | 379.16
1200 | 283.97| 79.54 | 280.56 [127.27 |277.94 | 174.99 | 275.74 |222.72 |273.79 | 27045 | 272.04 | 318.17 | 270.42 | 365.90 | 268.92 | 413.62

8 o



GREEN SAFE DEVELOPMENT

SMNERSNTE (BB EE2S)
Installation dimensions (horizontal outlet silencer)

FRERsEERIFL (RTIRARNELE)
Anchor bolt box(size set according to different types)

A B
B
¢ BN LS W
HROB0E C’L Blowers cenfterline
Air outlet centerline | $ _E} ‘
| |
P‘ ‘ N K
= I l
— ! I
min Ak .
LR ] \\E T 4T
D 3 ==l T
w8 © M l L

100

RS
Shock absorber pad

AL Unit(mm)

BS . 5 0 E 6 H J K M N W P Q@ R S T U @d nod B

Type n-k
GRB40 235 230 | 20 | 350 104 | 741 56 | 140 | 520 - - 98 95 150 | 95 | 595 [ 18| 110 | 4-18 |4-M12x160
GRB50 320 | 270 |20 | 412 [103.5| 921 | 80 | 140 | 520 = 700 93 211 | 150 | 105 | 595 | 18 | 125 | 4-©18 |4-M12x160
GRB65 3425 | 300 | 20| 412 | 104 | 924 | 80 | 152 | 520 - 700 93 1885|150 | 115 | 595 | 18 | 145 | 4-@18 |4-M12x160
GRB80 383 304 | 20 | 482 | 106.5 | 1241 | 80 | 180 | 700 = 900 | 1125 | 238 | 180 | 135 | 795 | 22 | 160 | 8-@18 |4-M12x160
GRB100 426 | 354 | 20| 482 | 110 | 1245| 80 | 180 | 700 - 900 | 130.5| 195 | 180 | 150 | 795 | 22 | 180 | 8-@18 |4-M12x160
GRB125A | 495 |3755 |24 | 602 | 135 | 1840 | 100 | 250 | 950 = 1150 | 178 | 291 | 250 | 165 | 1260 | 22 | 210 | 8-@18 |4-M16x220
GRB125 495 | 4355 |24 | 602 | 157.5| 1835|100 | 262 | 950 - 1150 | 182 271 | 250 | 165 | 1260 | 22 | 210 | 8-@18 |4-M16x220
GRB150 574 | 490.5 |24 | 602 | 163 | 1860 | 100 | 250 | 950 = 1150 | 182 | 212 | 250 | 180 | 1260 | 22 | 240 | 8-@23 |4-M16x220
GRB200A | 534 472 | 30 | 790 198 | 2285 | 160 | 358 | 1300 | 650 - 313 441 | 250 | 210 | 1645 | 25 | 295 | 8-@23 |6-M20x350
GRB200 584 | 522 |30 | 790 | 194 | 2285 | 160 | 345 | 1300 | 650 = 310 | 391 | 250 | 210 | 1645 | 25 | 295 | 8-@23 |6-M20x350
GRB250 695 | 597 |30 | 940 | 216 | 2520 | 160 | 356 | 1400 | 700 - 270 | 490 | 250 | 230 | 1750 | 38 | 350 | 12-@23 | 6-M20x350
GRB300A | 880 697 |30 | 940 | 255 | 2660 | 160 | 360 | 1500 | 750 = 248 | 470 | 350 | 245 | 1850 | 38 | 400 | 12-@23 |6-M20x350
GRB300 795 | 627.5|35 | 1030 | 300 | 2955 | 250 | 510 | 2000 | 1000 - 321 487 | 350 | 245 | 1850 | 38 | 400 | 12-@23 | 6-M20x350

71 HGRB-40FCEBHINZRITL.1~4kW kML b, GRB-150ECEBANIIZRIES5kW R LA E, GRB-200ECEBNINZRAEI0KW R LA L, XIAEEER T 514,
Note: When the motor power of GRB-40 is 1.1-4kW or above, GRB-150 is 55kW or above, and GRB-200 is 90kW or above, the size of the blower base should
be specifically confirmed.

s R 2

2L Unit(mm)

Anchor bolt i s
M Anchor bo/l: GB799-88 A H E GG Ap;;catiorjype
M10 160 32 224 |100x100 GRB32
M12 160 36 224 1100x100 GRB40,50,65,80,100
M16 220 45 275 120x120 GRB125(A),150
M20 300 55 345 |150x150 GRB200(A),250,300(A)
M30 400 72 428 |200x200 GRB350,400

A 1L ENEERNR/NRST, RIBRENTIEBER, EHMR.
2. GG ZRRERIITAEFLR T -
Note:1. The note E on the drawing is the minimum size, it shall be deepened properly according to the soill
condition in the installation place.
2. GxG is the size of the preformed holes for the secondary casting.

08



GREEN SAFE DEVELOPMENT

SMNERSTE (BB zNHE O EEes)
Installation dimensions (vertical outlet silencer)

TR T, (RIUEARNAE)

Anchor bolt box(size set according to different types)

[ ATE
Expansion bolt location
(RN
+ -\‘- Al ﬁmm ra#teﬁine
ERLRLL v
+ + o l Blowers centerline
R - - A
P [N
" v T
| A B | T S R K
‘ T
I
_I Oy
(] o
() ! ~
. n-0d1 ?
T 1 5 \‘
%azz /“41 It ZIE
Q 14
1% A
D E D Damping pad
YA
Damping pad
BA{i Unit(mm)
=l
BS 4 8 D E 6 H h J K M N X P Q R S T U W @dngd GHEBE st
Type n-k n-k
GRB40 | 235 | 230 (20350 104 | 741 | 140 | 56 |140| 500 | - | 700 | 98 | 95 |150| 95 |300|18|140|110|4-@18|4-M12x160 | 4-M12x150
GRB50 | 320 | 270 |20|412103.5| 921 [163.5| 80 |140| 520 | - | 700 | 93 | 211 |150|105|300|18|140 | 125 |4-318 |4-M12x160 | 4-M12x150
GRB65 |342.5| 300 |20 |412| 104 | 924 | 154 | 80 |152| 520 | - | 700 | 93 |188.5|150|115|350|18|170| 145 |4-@18|4-M12x160 | 4-M12x150
GRB8O | 383 | 304 |20482106.5|1241|141.5| 80 |180| 700 | - | 900 [112.5| 238 |180| 135|400 |22 |190|160 |8-318|4-M12x160 | 4-M12x150
GRB100 | 426 | 354 [20[482| 110 {1245 135 | 80 [180| 700 | - | 900 130.5| 195 |180|150|450|22|240|180|8-@18|4-M12x160| 4-M12x150
GRB125A | 495 |375.5|24|602| 135 (1840 | 145 |100|250| 950 | - |1150| 178 | 291 |250| 165|500 |22 |240|210 |8-@18 |4-M16x220 | 4-M12x150
GRB125 | 515 |435.5|24|602|157.5|1835(167.5/100|262| 950 | - |1150| 182 | 271 |250| 165|500 |22 |240|210|8-@18 |4-M16x220 | 4-M12x150
GRB150 | 574 |490.5(24 (602 | 163 (1860 153 |100|250| 950 | - [1150| 182 | 212 |250| 180|600 |22 |290|240 |8-@23|4-M16x220| 4-M12x150
GRB200A | 534 | 472 |30|790| 198 |2285| 202 |160|358|1300 /650 - | 313 | 441 |250|210|650 |25 |350 | 295 |8-@23 |6-M20x350 | 4-M12x150
GRB200 | 584 | 522 [30[790| 194 {2285 198 |160|345|1300(650| - | 310 | 391 |250|210|650|25|350|295 |8-@23|6-M20x350| 4-M12x150

7 YGRB-40FCFEMINEIELL~4KkWR L L, GRB-150E2E N INZEAE55kWR LA £, GRB-200F2EE M INERTEI0KWR L E, KNERER T 518,
Note: When the motor power of GRB-40 is 1.1-4kW or above, GRB-150 is 55kW or above, and GRB-200 is 90kW or above, the size of the blower base should

be specifically confirmed.

]

Relief valve

1
[A"]

Ll

D
1T

|-

09

L Unit(mm)

me 4, ERALE B
Type Application type Weight (kg)
SV 15 [ 915 GRB32 0.3
SV1L" 19 | 145 GRB40,50,65,80 0.3
Ssv2" 24 | 185 GRB100,125(A),150 1
Sv3" 30 | 230 GRB200(A),250 1.6
SV100 | 90 | 490 GRB300(A) 29
SV150 95 | 490 GRB350,400 384

AL V100, SVISONE=ER, SEIB/T1.0MPaE =R,
Note: Type SV100\SV150 is connect with flange. Refer to JB/T 1.0MPa.



U w )
=

Suction silencer

N

[5]0]

i I

E= (IS 10K)
Flange

‘_L,‘
OF

n-QH

1T
=

20 )

Horizontal outlet silencer

E= (JB/T 1.0MPa)

I / Flange

2L Unit(mm)

SS32 113 105 GRB32
SS40 400 133 150 220 105 140 [4-014 7 GRB40
SS50 550 133 150 220 120 155 |4-619| 10 GRB50
SS65 550 159 190 280 140 175 [4-@19 | 12 GRB65
SS80 820 219 | 245 280 150 185 [8-@19 | 21 GRB80
$5100 820 245 273 330 175 210 (8-@19 | 27 GRB100
SS125 | 1310 | 273 310 350 | 210 250 |8-@23 | 45 GRB125(A)
SS150 | 1310 | 299 | 340 370 | 240 280 |8-@23 | 52 GRB150
$5200 | 1500 | 330 | 380 370 | 290 330 [12-@23| 81 GRB200(A)
§S250 | 1700 | 400 | 480 550 | 355 400 (12-@25| 98 GRB250
SS300 | 1825 | 500 | 600 650 | 400 445 (16-@25| 135 GRB300(A)
SS350 | 2237 | 550 | 676 700 | 445 490 |16-@25| 200 GRB350
SS400 | 2533 | 600 | 720 750 | 510 560 (16-@27| 250 GRB400

A SS32RL'RpEREAT
Note: Type SS32 is connect with Rp thread standard 1".

B Unit(mm)

ij DS50 159 125 160 | 4018 GRB50
DS65 595 159 145 180 | 4918 | 135 GRB65

DS80 795 219 160 195 | 8@18 | 24 GRB8O

DS100 | 795 219 180 215 | 8@18 | 25 GRB100
25 DS125 | 1260 | 290 | 210 245 | 8218 | 48 GRB125(A)

< DS150 | 1260 | 290 | 240 280 | 8923 | 51 GRB150
DS200 | 1645 | 356 | 295 335 | 8023 79 GRB200(A)

DS250 | 1750 | 405 350 390 | 12023 | 98 GRB250
DS300 | 1850 | 484 | 400 440 [ 12:923 | 140 GRB300(A)

S BT 1.0MPa) DS350 | 2500 | 560 | 460 500 | 16-923 | 280 GRB350

i TIL ﬁge DS400 | 2700 | 610 515 565 | 16-926 | 340 GRBA400

-

M IVHH

Vertical outlet silencer

JIxJ Flange

A= (JB/T1.0MPa)

L Unit(mm)

VDS50 120| 150|162 | 125|160 | 4-@18 | 140 | 180 | 19.0 GRB50
VDS65 | 480|130 (175|185 145|180 | 4-@318 | 170 | 210 | 27.0 GRB65
VDS80 | 595 145|200 | 225|160 195| 8-@18 | 190 | 235 | 36.9 GRB80
VDS100 | 660 | 155|225 285|180 | 215| 8-@18 | 240 | 310 | 51.8 GRB100
VDS125 | 840 190 | 250 | 281 | 210 | 245 | 8-@18 | 240 | 310 | 65.9 | GRB125(A) GRB125
VDS150 | 990|210 | 300 | 346 | 240 | 280 | 8-@23 | 290 | 376 | 99.6 GRB150
VDS200 |1040| 256 | 325|410 | 295 | 335 | 8-@23 | 350 | 425 | 131.5 | GRB200(A) GRB200

10 (™



:EE

L Unit(mm)

e R e e s o, O
HJ40 | 150 110 | 4-218 | 120 [ 155 | 4-@19 | 14" GRB40
n-oF - n-OH HJ50 | 150 | 160 125 | 4-@18 [ 120 | 155 | 4-@19 | 14" 58 GRB50
N ?_‘ 7:]75 HJ65 | 150 | 180 145 | 4-@18 [ 140 [ 175 [ 4-@19 | 14" 75 GRB65
HJ80 [ 180 [ 195|160 | 8-@18 [ 150 | 185 | 8-@19 | 14" 9 GRB80
HJ100 |180 | 215|180 8-@18 [ 175|210 |8-219| 2" 115 GRB100
8 8 g \M 88 HJ125 | 250 | 245|210 | 8-@18 | 210 | 250 | 8-@23 | 2 15.5 GRB125(A)
HJ150 | 250 | 280| 240 | 8-@23 | 240 | 280 | 8-@23 | 2" 18 GRB150
HJ200 |250 | 335|295 | 8-@23 | 290 | 330 [12-@23| 3" 23 GRB200(A)
1T | - HJ250 | 250 | 390 | 350 |12-@23| 355 | 400 |12-@25| 3" 30 GRB250
;E (JBMOMPS \i;wsm HJ300 | 350 | 440 | 400 |12-@23 400 | 445 [16-@25|DN100| 45 GRB300(A)
Flange Flange HJ350 |[400 | 500 | 460 |16-@23| 445 | 490 [16-@25|DN150| 59 GRB350
HJ400 | 400 | 565|515 |16-@26| 510 | 560 |16-927|DN150| 72 GRB400

Flexible connector

&= (JB/T 1.0MPa)
Flange

1 LE 1]

Check valve
g

:r'z»

8 | ML
e

I

N

£ DN100. 150095205, 2% )8/T 1.0MPafliER o
Note: Type DN100\150 is connect with flange. Refer to JB/T 1.0MPa.

EB{iL: Unit(mm)

KXT50 105 125 160 4-018 3.72 GRB50
KXT65 115 145 180 4-@18 4.68 GRB65
KXT80 135 160 195 8-018 55 GRB80
KXT100 150 180 215 8-018 6.7 GRB100
KXT125 165 210 245 8-018 8.3 GRB125(A)
KXT150 180 240 280 8-023 12 GRB150
KXT200 210 295 335 8-023 14 GRB200(A)
KXT250 230 350 390 12-@23 18.6 GRB250
KXT300 245 400 440 12-923 27.5 GRB300(A)
KXT350 255 460 500 16-@23 34 GRB350
KXT400 255 515 565 16-026 47 GRB400

BB Unit(mm)

DCV-50 105 GRB40, GRB50
DCV-65 45 18 125 14 GRB65
DCV-80 52 22 140 0.8 GRB80
DCV-100 65 22 160 0.9 GRB100
DCV-125 920 22 190 12 GRB125(A)
DCV-150 115 22 215 [IE5) GRB150
DCV-200 160 25 270 26 GRB200(A)
DCV-250 180 38 325 125 GRB250
DCV-300 213 38 375 18.5 GRB300(A)
DCV-350 246 38 435 235 GRB350
DCV-400 278 42 487 32 GRB400




WMEOREIEETR NYIRIN:
For further details, please fulfill the chart below.

B ZOJYNAN
Customer Undertaker
TREEM: TiEth
Name of project Address of project
BBiE: £H:
Telephone Fax
i [E%ER AT
) Usage |:| Compression D Vacuum
78Hm EeEEE%
L SRR Elevation Max relative humidity
Local condition LA S ESI(MPa) BESUE(0)
Local atmospheric pressure Max air temperature
E220) BE(C)
» SRR Name Temperature
Gas character [5%7%) =S balnd ]
Constituents Ratio of constituent
X& (m’/min) A (mm)
=
ZL:)-L;'? ) Capacity Diameter
Wi
parameter . MEmmAg) B3R (r/min)
Pressure Speed
Eithay BBE(V)
Type Voltage
=
;fﬂ) f& THEE (kW) S (Hz)
parameter Power Frequency
RE HE
Pole Others
TEME D ERNTE ERMREI R HE
Location Indoor install Camping outdoor install Others
, fEaA= D R (ITAERY) D HEXED
Driving mode Belt-driven(Standard) Direct drive
HEZR
Other requirement

& LU EAEIER AR RIAT,
2IERIIE 7 F, BHLIHES,

Notes: 1. Please fill in the parameter lists as complete as possible.

2.The item with* ™" must be filled.



GREEN SAFE DEVELOPMENT

F1&15 B Applications

VIS (S1:

Water treatment

Aeration of swage

n TSk MR

MR RRHTL

Brewery and beverage industry

B I

B SEENERATE R AET S

Clean up the bottle's dead angle by gas

LS
Spray finishing O

AN

BTSRRI SR -

Use gas spraying fire-resistant material on the wall

Fi- ]
Fishery |E Ir; — — —

RESET . SRR T
Brewery and
beverage industry

P ks

Increasing oxygen in water

13

BRI

Incinerator

Incinerator

Used for combustion, increasing oxygen to promote combustion

FTFEMA, BMAS R

TkAbIE

Water treatment

LS
Spray finishing

FrIELH
Fishery

REE

Fermenting plant

Increasing oxygen to promote the fermentation

n EIEMEEE, TR

A

A

REEr

Fermenting plant



rE

Carwashing

nE

Car washing

B cleaning agent

B
Paper mill

Y

Y

SE BN AR TR R ERERER

Use washing fluid washing car base on siphon principle

EHEE
Pipe clearing
T T T
BEIT T — — — — '
Electroplate factory
m FRSHERAS I, RS THIEH M
Stir gas liquid, make its uniformity
& &
s, - Sauna
auna
LT EE ThES =
Conveying  —] |
|T

B4
Paper mill

/ﬂ 43 paper

N T

n FRHWRE, NATEELRE

The mechanical arm carrys the paper after it has been rised by the wind

GREEN SAFE DEVELOPMENT

EHER
Pipe clearing

o [

grain of sand

Use gas blowing sand to flush pipes

n PR S R0 o R S A o B

T

Electroplate factory

Do body massage, promote the blood circulation

n HAGRIRE, (R IRIER

UL LTPES

Conveying

S RN
automatic
baiting
machine

IR SRR %

Use gas conveying materials

14



SODZREUA T = m B R
To find out more about following products, please visit www.gsd.net.cn

Q000 %GO

RERY BARRY | HLRAY | BRERT
Pump Series Submersible pump series | On land pump series | Special pump series
BFHER RS BHENES] | BREFS)
Mixing and flow propeller Mixing series | Flow propeller series
HABSRT BANERT | BIRRS | BSER
Aeration equipment series Aerator series | Disc diffusers | Tube diffusers
IGIEN ) HMETHRY, | SSBTERN | =P ERE RS
Blower Series Maglev turbo blower | Turbo blower | Three-lobe Roots Blower blower series
SR IRIGE BB | EREEY | BB | SRETHEE | 2RENSTIEE
Sludge treatment equipment Belt filter press | Boxfilter press | Screw press | Mud scraper | Dissolued air flotation clarifier
ab N S = SN .
BREML RS BERE | ASLEREEE | kASRATIHHSBEE
Intelligent series Intelligent equipment | Health management for water equipment | Intelligent management for water system process
A, " X — N
Rz NREEIRE FMRMAS | MBREVIBRIR | AR | —ALsk@ies
Reactor and package equipment Fenton reaction system | MBR biofilm reactor | Prefabricated pumping station | Intelligent Compact Unit
FEMETI RAERIRE B | PAC AT | PAM BFEAERS | L85

Consumables,reagents and
related equipment

Biological rope | PAC polyaluminum chloride | PAM polyacrylamide | Automatic dispensing dissolvers

GSD WEAEER

Business Philosophy

G-Green4gfas S-Safe®E D-Development k44EE

KRR G W SIEIREF

JIIiE (PE) ik BRAS)
GSD (China) Co.,Ltd.

Professional partners in water treatment systems

REE

RIEEEIE

400 657 9066

may be different in differ:

ta on the brochureis
rentap

NBIETE, WRBTE

ndatain the past. The actual data
out notice.

ataand cust
ve the right to

c content




